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1. HaCl'IOPT KOMIIJICKTA KOHTPOJBbHO-OIICHOYHLIX CPEACTB

B pesynbrare ocBoenusi yueOnou mucumiuinibl «CIT 02. MHOcTpaHHBIM S3BIK B
npohecCHOHATBPHON JIESTETLHOCTH» OOYUYaIoOMMiCs JOJDKEH 00JIaaTh YMEHHUSAMHU, 3HAHUSAMM,
KOTOpble (OPMHUPYIOT TPOPECCHOHATBHYIO KOMIIETEHIMIO, ¥ OOMMMH KOMIIETEHIHSIMH,
npexycmorpeHHpiMu @T'OC mo npodeccun:

13.01.10 DnexTpoMOHTEp 110 PEMOHTY U OOCIIY’)KMBAaHUIO  3JIEKTPOOOOPYIOBAHUS.

B pe3synbTaTe ocBoeHUs y4eOHOM NUCIMILIMHBI O0YYaIOIIUICS T0JDKEH YMETh!
rOBOpeHHe:

— BECTH JMAJIOT (AMAIOr—paccIipoc, AUATOT—O0O0OMEH MHEHUSMH/CYXKIACHUSIMH, JTHAIOT—
MOOYKJIeHUE K JeMCTBUIO, STUKETHBIN AUAJIOT U UX KOMOMHALIMN) B CUTYalUsIX 0(UIMATIBHOTO U
HEO(QUIIMAIBHOTO OOILIEeHNsI B OBITOBOM, COIIMOKYJIBTYPHOH M Yy4eOHO-TpyAoBOH cdepax,
HCIO0JIb3YS apryMEHTAIUI0, IMOLIMOHAIbHO-OLIEHOYHBIE CPEJICTBA;

— paccka3bplBaTh, pacCyXJaTh B CBS3W C HM3YYCHHOW TEMAaTHKOW, MPOOIEeMATHKOM
MPOYUTAHHBIX/TIPOCTYIIAHHBIX TEKCTOB; OIMUCHIBaTh COOBITHS, W3MaraTh (aKThl, JeNaTh
COOOIIEHNS;

— CO3/aBaTh CJOBECHBIH CONMOKYJIBTYPHBIH IMOPTPET CBOEH CTpPAaHBI M CTPaHBI/CTpaH
M3y4aeMoro s3bIKa Ha OCHOBE pPa3HOOOpa3HOW CTPAaHOBEIUECKOW U KYJIbTYpOBEIYECKOMH
nHpopMmaIuu;

ayl1MpoBaHue:

— MOHUMAaThb OTHOCHUTENIBHO TOJHO (OOIIMHA CMBICH) BBICKAa3bIBAHUS HA H3y4aeMOM
MHOCTPAaHHOM $SI3bIKE B PA3JIMUHBIX CUTYalUsIX OOLIEHUS;

— TIOHMMAaTh OCHOBHOE COJICp)KAaHHE AayTCHTUYHBIX ayJHO- WIH BHJICOTEKCTOB
MO03HABATEIBHOTO XapaKTepa Ha TEMbI, MpejiaracMble B paMKax Kypca, BHIOOPOYHO H3BJICKATh
13 HUX HEOOXOAUMYI0 HH(OPMAIIHUIO;

— OICHUBATDH Ba}KHOCTB/HOBI/ISHy I/IH(l)OpMaHI/II/I, OIpEACIIATh CBOC OTHOIICHHUE K Heﬁ,
YTCHHEC:

— YUTATb aYTCHTUYHbBIC TCKCTbI Pa3HbIX CTHIICH (HY6J'II/ILII/ICTI/I‘IGCKI/I6, XYAOXKCECTBCHHBIC,
HAaYYHO-TIOITYJISAPHBIC U TCXHH‘IGCKI/IC), HCIIOJIb3Ysl OCHOBHBIC BUJIbI UTCHUS (03HaKOMI/ITCHBHO€,
Hu3ydaromiee, HpOCMOTpOBOC/HOI/ICKOBOG) B 3aBUCUMOCTH OT KOMMYHHKaTHBHOﬁ 3aJa4u,

NHCbMEHHAasA pe4b:

— ONHCHIBATh SIBJIEHUS, COOBITUS, M31araTh (hakThl B MUCbME JIMYHOTO U JICJIOBOTO
XapakTepa;

— 3aIlOJIHATH PA3JIMYHBbIC BUbBI AHKCT, COO6I_I_[3.TI:> CBCACHUA O cebe B (I)OpMC, HpHHHTOfI B
CTpaHe/CTpaHaX HU3Yy4aeMOro s3bIKa.

B PE3YIbTATC OCBOCHUSA yqe6H0171 JHUCITUITIINHBI O6y‘-I€lIOH.[PIfIC5I JOJDKCH 3HATh.

— 3HAYCHHA HOBBIX JICKCHUYCCKUX C€IWHHUI, CBA3aHHBIX C TEMATUKOM MTaHHOTO 3Tala M C
COOTBCTCTBYHOIIMMU CUTYallUAMU O6H.ICHI/151;



— SI3BIKOBOM MaTepual: HIUOMATUYCCKUC BBIPAKCHHA, OLCHOYHYIO JICKCHUKY, CIWHHIIbLI

pPEUYCBOIro I3THUKETA, HNCPCUYHUCICHHLIC B PA3CiIC «SI3pIKOBOM Marcpuai» Hu 06CJIy)KI/IBaIOH_II/Ie

CUTyallun 06IJ_ICHI/I$I B paMKax M3y4aCMbIX TCM;

— HOBBIC 3HAUCHHUA H3YUYCHHLIX TJIarOJIbHBIX d)OpM (BI/II[O-BpCMeHHBIX, HeJII/I‘-IHBIX),

cpeacrtea u CIIOCOOBI BBIPAXKCHUA MOOAJIBHOCTH,

CJIe/ICTBHS, IOOYXKJIEHUS K IEHCTBUIO;

yCI0BHUS,

IIPEANOJIOKEHNS], NPUUYUHBI,

— JIMHTBOCTPAHOBEIYECKYIO, CTPAaHOBEIYECKYI0 U COIMOKYJIBTYPHYIO HWH(OPMAIHIO,

paCIIUPEHHYIO 32 CYET HOBOM TEMATHUKH U TIPOOJIEMAaTHKH PEUEBOTO OOIICHNUS;

— TCKCTBI, IOCTPOCHHLIC HA A3BIKOBOM MaTCpUaJIiC IOBCCAHEBHOI'O U HpO(bGCCI/IOHaJ'IBHOFO

oOlIeHUsl, B TOM 4HCJI€ HMHCTPYKIMM W HOpPMAaTHBHBIE JOKYMEHTHI MO mpodeccusiMm u

cnenranbHocTaM CIIO;

OOyuaromuiicsi JOHKEH UCIOJIb30BaTh

IpUOOpETEHHbBIE

3HaHUA W YMCHHUA B

MPaKTUYECKON U MPOECCUOHANTBHON AEATEIbHOCTH U B IOBCEAHEBHON KU3HU.

B npouecce

OCBOCHHA

chopmupoBanbl oommue kommnereHuuu (OK):

y4eOHOW TUCITUTIIUHBI

y OoOydJarmmuxcs JOKHBI OBITh

Kon JAucuMminHapHbie pe3yJabTaThl
IIK, OK YMmenust 3Hanus
OK 02 JEKCUYECKHMI U  T'paMMaTUYECKUU
OK 04 CTPOUTH MPOCThIE BHICKA3bIBaHUS O ce0€ M | MUHUMYM, OTHOCSIIUNCS K OTIMCAHUIO
OK 05 0 cBoel npodeccCHOHaTbHON NeSTeNIbHOCTH; | IPEIMETOB, CPEACTB U MPOLIECCOB
OK 09

npodeccnoHaNbHOM e TENbHOCTH;

B3aHMOI[eI>10TBOBaTB B KOJIJICKTUBCEC,
IIpUHUMAaTh Y4aCTHC B AWAIOrax Ha 06]]_[1/[6
n HpO(beCCI/IOHaJ'II)HI)IC TEMBI,

JEKCUYECKHMI U TpaMMaTHYECKUU
MUHUMYM, HEOOXOJIUMBINA Ul YTCHUS
u nepeBoja TEKCTOB
npodeccuoHalbHON HANpPaBICHHOCTH
(co cnoBapem);

MPUMEHSTh pPa3IuyHble (OPMBI U BUIBI

. . 001IeynoTpeOUTENbHBIC TJ1aroJibl
YCTHOW W TMCBMEHHOW KOMMYHHKAIlUU Ha
(oOmras u npodeccruoHanpHas
WHOCTPAHHOM SI3bIKE MIPU MEXKJIMYHOCTHOM leKcHKa):
U MEKKYJIBTYPHOM B3aUMO/ICHCTBUY; ’
MOHUMATh o0 CMBICIT 4ETKO
npaBuia YTCHUS TEKCTOB

IIPOU3HCCCHHBIX BBICKa3bIBAHUN Ha 06]].[1/[6
H 0a30BEIE HpO(I)eCCI/IOHaJ'IBHBIC TCMBI,

npodeccuoHanbHOM HallPaBICHHOCTH;

IIOHHUMAThb TCKCThI Ha 0a30BbIC

npodeccruoHabHbBIE TEMBI;

npaBuja TOCTPOEHHS] TMPOCTBIX H
CJIOKHBIX MpeIOKEHU I Ha
npodeccHnoHabHBIE TEMBI,

COCTaBIISATh MPOCTHIE CBSI3HBIE COOOIIECHUS
Ha oOrmiue WIH MHTEPECYIOIINE
npodeccruoHabHbBIE TEMBI;

ImpaBrjia peUeBOIro OTHUKETA n
COOUOKYIBTYPHBIC HOPMBI O6H_ICHI/IH
Ha UHOCTPAHHOM SA3BIKE;

oOmarecss (YCTHO M TNHCBMEHHO) Ha
MHOCTPaHHOM A3BIKE Ha
npodeccuoHalbHblE M [OBCEIHEBHbBIE
TEMBI;

dopMbl M BHABI  YCTHOH U
NUCbMEHHOM  KOMMYHHMKAallMM  Ha
WHOCTPaHHOM S3BIKE npu
MEXJIMYHOCTHOM U MEXKYJIbTYPHOM

B3aHMMOJICHCTBUM




NEpCBOANTD HHOCTpAaHHBIC TCKCTHI
npoeccHOHaNbHONW HAIMPaBIEHHOCTH (CO
CJIOBapem);

CaMOCTOSITEJILHO COBEPILIEHCTBOBATh
YCTHYIO U NHUCBMCHHYIO pPCYb, IOIOJHATH
CJIOBApHBIN 3amac

2. Pe3yabTaThbl 0CBOEHUS Y4eOHOM TUCUMIINHBI, MOJIeKAlie TPOBEpPKe
2.1. B pesynprate arrectanuu no yueOHoi nucuuiuimHe «CI' 02. MHOCTpaHHBIM S3BIK B

HpO(l)eCCHOHaJIBHOfI ACATCIIBHOCTH) OCYHICCTBIIACTCA KOMIUJICKCHASA IMPOBEPKaA CICAYIOIINUX

YMEHHH U 3HaHMH, a TaKKe JUHAMUKa (OPMUPOBAHUS OOLINX KOMIETEHIIUMN:

Pe3yabTaThl 00yuyeHus (0CBOEHHbIE YMeHHsl, YyCBOEHHbIE 3HAHUS,
0TpadoTaHHbIE HABBIKH)

OcHoBHbIE TOKA3aTEIN
OLI€EHKH pe3yJ/ibTaTOB

3YH-1 - Bectu  mmajor  (AWaOT-paccripoc,  IUAjIor-OOMEH | ycmHblll Onpoc,
MHEHHSMU/CYKJICHUSIMH, JHATIOT-TIO0YXKJIEHHUE K JEUCTBUIO, dTUKETHBIN cobecedosaniie,
JIMAIIOT ) B CHUTyalUsX O(QUIHAILHOIO M HEO(PHIMAILHOTO OOINEHUS B nucbmennas paboma,
6 o . . ayoupoeaHue
BITOBOH COIMOKYJIBTYPHOH W Y4eOHO-TPYIOBOW cdepax, HCIOIb3Ys
apryMEHTAIHI0, YMOIIMOHAILHO- OT[CHOYHBIC CPEJICTBA;
3YH-2 - paccka3piBaTb O CBOCH CTpaHe, KYJIbType, TPAAUILMIX, | HUCbMeHHAs paboma,
oOpa3oBaHuM, cOOOIIaTh KpaTKUE CBEACHUSA O CBOEM TOpOJie U CTpaHe | Mmecmuposarue
W3y9aeMOTo SI3bIK3, DACCKA3BIBATE O CIIEIMATBHOCTH, mpodeccun u | C00ecedosarie
pechepam
9KOJIOTHH.
ayouposarue
3YH-3 - nenath KpaTKue COOOIECHHUSI, OTIMCHIBATh COOBITHS U SIBJICHHS (B | cobecedosarue
paMKax U3Y4EHHBIX TeM), IlepeaaBaTh OCHOBHOE COJIEp>KaHUE, OCHOBHYIO | NUCbMEHHAs paboma
MBICIT TPOYHTAHHOTO HITH YCIBIIIAHHOTO, BHIPAKATH CBOE OTHOIIEHNE K | 1eCmo6as paboma
KOHMpObHas paboma -
MPOYUTAHHOMY, YCIBIIIAHHOMY, JaBaThb KpPaTKyl0 XapaKTePUCTHUKY
. ayouposatue
MIepPCOHAXEI;
3YH-4- mnoHumaTh OCHOBHOE COJEpXKaHHE KOPOTKUX, HECIOKHBIX | YCHHbIL ONpOC,
ayTeHTHUYHBIX  TEKCTOB  (MPOTHO3  MOrOJbl, MpPOTpaMMbl  Tele-, cobecedosanue-
paauonepenay, OOBABICHUE Ha BOK3ale, B a’pONOPTY) U BBIAEIATH ayoupoeanue
) nucbMenHas paboma,,
3HAYUMYI0 HHPOPMAIHIO;
mecmupogaHue

npakmuyeckas paboma,

3YH-5 - moHmMaTh OCHOBHOE COACPKAHNUEC HCCIIOKHBIX aYTCHTUYHBIX
TEKCTOB, OTHOCAIIUXCA K PpPa3HbIM KOMMYHHUKATUBHBIM THIIAM PpCUHU
(COO6H_ICHI/IC, paCCKa3); YMEThb ONPCACIIATE TEMY TCEKCTA, BbIACIATD
TJIAaBHBIC (I)aKTBI, OIyCKasA BTOPOCTCIICHHBIC,

nucvMeHHas paboma,
mecmuposanue,
ayoupogaHue

3YH-6 ucnonb30Bath nepecnpoc, Npock0y MOBTOPHUTS;

YCMHbBLU ONpOoC,
cobecedosanue,




ayouposaHue

3YH-7 - opueHTUpOBaTHCS B MHOSA3BIYHOM TEKCTE; IIPOTHO3UPOBATH €0 | nUCbMeHHas paboma,

COJZIEpKAHUE T10 3ar0JIOBKY; mecmupoeanue,
ayouposaHue

3YH-8 untarh ayreHTUYHBIE TEKCTHI PA3INYHBIX )KAHPOB C IOHUMAHUEM | NUCbMeHHAs paboma,

OCHOBHOTO COJIepKaHus (ONpeesiTh TEMY, OCHOBHYIO MbICIIb; BBIIEIATH | Mecmuposanue,

IJ1aBHbIe (AKTBI, OIYCKask BTOPOCTENEHHbIE; YCTaHABIHBATS JorHueckyto | 4Youposanie
KOHmMpObHas paboma

MIOCJIEJ0BATEILHOCTh OCHOBHBIX (DaKTOB TEKCTA);

3YH-9 uyuTarth HECIOXKHbIE AyTEHTHYHbIE TEKCThl Pa3HbIX CTUJIEH C

IMOJHBIM MW TOYHBIM IIOHUMAHHUEM, MUCIIOJIB3ysd PA3JIMYHBIC TIPUCMBI

CMBICTIOBOM  mepepabOTKH TEKCTa  (S3bIKOBYIO  JIOTAJKY,

MOJIyYEHHYI0O  MH(pOpMaIuio,

aHaJm3,

BBHIOOPOYHBIA  MEpEeBOJ), OILICHHWBATH

BbIpaXaTb CBOC MHCHUC,

YCMHbIU ONPOC,
(cobecedosanue)
(nucvmennasn paboma),
(mecmuposanue),
(konmpoavuas paboma)
ayouposaHue

3YH-10uuTtath TEeKCT ¢ BBHIOOPOYHBIM TOHUMAHHEM HYKHOM WU

(ycmuwlil onpoc),

HWHTEpeCyoIIer nHhopMaIiy; (cobecedosanue-
ayouposarue
(nucvmennasn paboma),
(mecmuposarue),
(komnmpoavHas paboma),
3YH 11 YCMHbLU ONPOC,
- TEKCThl IIOCTPOCHHBIE Ha SA3BIKOBOM MaTepuaje MOBCEIAHEBHOIO U cobecedosanue-
MpodecCHOHATBHOr0  OBmeHHs, B TOM uhcie HMHCTpyKmmm —u | 4Youposanue
(nucvmennasn paboma),
HOPMAaTUBHBIE JOKYMEHTHI 10 crienraibHocTaM CIIO
mecmuposatue),
KOHMpOAbHAsL paboma)
3VH-12 mnucarh mo3apaBiieHus, JUYHBIC MHUChbMa C OMOPOM Ha 00pasell; | (Ycmubiil onpoc),
paccrpalmBaTh aJpecaTa O €ro JKM3HHU U JieJaxX, coo0Imarh To e o cebe, (cobecedosanue)
BBIPAXKaTh OJIAr0JapHOCTb, NPOCHOY, yHOTpeOuss (GOpMysbl PEYEBOro (nucomennas paboma,,
mecmuposatue),
ATHKETa, MPUHATHIE B CTpaHaX M3Y4aeMOro s3bIKa, COCTABIATH pedepar,
KOHMpOAbHAsL paboma)
UCIIOJIBb3YS CTeUaIbHbIe (Ppa3bl-KIIHIIE.
ayoupogaHue

- 3YH-13 3anonHsATh aHKETHl U GOPMYJISPHI;

VCMHbILL 0NpOc),
cobecedosanie)
nucbMenHas paboma),
mecmupogaHue),
ayoupogaHue
KOHMpObHAs paboma)




02. MnHoctpaHHbII

3. OueHka ocBOeHM S Y4eOHO JUCHUNIMHBI:
3.1. ®opMBbI U METOIbI OLICHUBAHMS
[IpenmeTom OIIEHKH CITy)aT yMEHUS M 3HAHH, IpeayCMOTpeHHbIe o aucuuiumne «CI0

S3bIK B MpodeccHoHaIbHON

ACATCIIBHOCTH HaIlpaBJICHHBIC  Ha

(dhopmupoBaHHe 00IUX U TPO(HECCHOHATLHBIX KOMITCTSHITUH.

(I)OprI H METOAbI KOHTPOJIA

JJjieMeHT  y4eOHOM

Texkymmii KOHTPOJIb

Py0e:xHblii KOHTPOJIb

AMCHUILINHBI dopma IIpoBepsiembl dopMma IIpoBepsiembie
KOHTPOJIA e OK,VY,3 KOHTPOJIA OK,V,3

Tema 1.1. Yemmuwiii onpoc 3YH1,2,5 Yemnuouit onpoc | 3YH 1,2,5,7,8,9
3HaueHue IIposepka Bxoonoti
WHOCTPAHHOTO $I3BIKA | 8bINOJHEHUS 0K 2,4,5,9 KOHMPOJlb 0K 2,4,5,9
B OCBOCHHHM | NUCbMEHHBIX
npodeccuun 0OMawHUX

3a0aHutl
Tema 1.2. Yemuwiu onpoc 3YH1,2,5 Yemuoui onpoc | 3YH 1,2,5,7,8,9
Ponw oOpazoBanms B
COBPEMEHHOM MHpE. 0K 2,4,5,9 0K 2,4,5,9
Tema 1.3. Yemuwi onpoc 3YH1,2,5 umenue 3YH1,2,5
OCHOBEI IEIIOBOTO
OOIICHUS 0K 2,4,5.9 0K 2,4,5.9
Tema 1.4. Yemmuwiii onpoc Yemuas peus 3YH
PriHOK Tpyna, 3VH 1,2,3 1,2,5,10
TPYAOYCTPOMCTBO U
Kapbepa 0K 2,4,5,9

0K 2,4,5.9

Tema 2.1. Yemuwi onpoc 3VH Yemuas peuw 3YH 1,2,3, 10
JlocTmxeHnus u 1,2,3,4,5,9
WHHOBAILIMK B HAyKE U OK 2,4,5,9
TEXHUKE U UX 0K 2,459
n3o0peTaTeI.
OtpaciieBbie
BBICTAaBKH
Tema 3.1. | Yemuwui onpoc 3YH 1,3,4 3aoanue 3YH 1,4, 10
HNucTpyMeHTHI, Ilposepka
obopynoBaHue. BbINONHEHUS 0K 24,59 0K 2,4,5,9

NUCbMEHHBIX

OOMAUHUX

3a0aHUll
Tema 3.2 Yemmuwiii onpoc 3VH 1,4,5 Yemuas peus 3YH 1, 6,4
KomMnoneHTsI
AIEKTPUYECKOM 1enu. 0K 2,4,5,9 0K 2,4,5,9
Tema 3.3. Yemmuwiii onpoc 3VH 1,3,8 Yemnaa — peus | 3YH 1,3,5,10
[Torpeburenu 3aoanue no 3a0aHue
AIEKTPOIHEPTUU epammamuke 15
Tema 3.4. Yemmuwiii onpoc 3VH 1,3,4,5 Yemnaa ~ peus | 3YH 1,5,9,10




TexHuka Ilposepxa
0e30MmacHOCTH U | 8bINOJIHEHUS
oxpaHa Tpyaa NUCbMEHHBIX
0OMAWHUX
3a0aHULl

3a0anue

0K 24,59 0K 2,4,5,9

IIpomexyTounas arrecranus/

He npenycMoTpena yueOHBIM IJIAHOB

Hrorosas arrecranus

A3

3ananue: BpInomHuTe 3aaHKSI B COOTBETCTBUM CO CBOMM BapUaHTOM.

JAupeKTopcKasi KOHTPOJIbHAas padoTa 10 AHIVIMHCKOMY SI3BIKY
( BXOIHOi1 KOHTPOJIB)

Bapuanr |

Bapuanr 11

1. TlocTraBbTe onpenejieHHbIH WM HeonpeaeJeHHbIN aPTHKIIb, I/Ie 3T0 He00X0TUMO.

This is...pen. ...pen is red.

This is ...man. ...man is ...worker.

This is ... my hat. ... hat is white.

...Volga is in ...Russia.

These are ...Alps. ....Alps are high.

This is ...doctor. ...doctor is good.

Il. O6pa3yiiTe MHOKeCTBEHHOE YHCJIO0 CYIIECTBUTEIbHBIX.

A pen A boy

A match A glass

A hero A womdn
A tooth A foot

A man A wolf

I11. CocraBbTe npenioxKeHusi, HCMOJIL3Y rJaro “tobe”

I ...a student

Peter ...a student.

There ...6 students in our group.

Our friends...not in the room.

John ...a pupil.

I...15 years old.

Belgorod...my native town.

Nick ...my friend.

V. Hannmure npeajioxkeHus, HCNOJIb3ys NPUJaraTejibHble B CDABHUTEJbLHON U

NPEBOCXOAHOM CTENEeHAX.

1.Nill is the (long, longest, longer) river in the world.

2. ‘Your text is (easy, easier, easiest) than my text, but her text is the (easy, easier, easiest)
3. His story is (interesting, more interesting, most interesting) than hers.

4. Her answer is (good, better, best) than yours, but it is (bad, worse, worst) than his.

5. Your sentences are (difficult, more difficult, most difficult) than theirs.

V. 3anoanure NMPONMYCKA JIUYHBIMA MECTOUMCHUAMM.




1. The pencil is in the box.

1. The windows are not open.

...1s not on the desk. ...are shut.
2. Annis here. 2. What colour are the desks?
...1s not there. ...are brown.

3. Put the match under the box.

3. Put the pieces of paper on the table.

Where is ...? Where are...?
4. The boy is in the classroom. 4. This is a doctor.
Where is ...? ...1s not a teacher.

V1. YnorpeouTe riaros B Hy:kHoi ¢opme.

1. The mechanic (ask, asks) us a question.

1. The agronomist (know, knows) English very
well.

2. The pupils (like, likes) to learn English

2. Kate (is, are) a good nurse.

3. We (read, reads) texts at our English lesson.

3. Students (learn, learns) English too.

4. He (clean, cleans) the blackboard with the
duster.

4. We (answer, answers) our teacher’s
questions.

Il. OTBeTHTE HA BONPOCHI.

- Which is the first day in the week?
- How many months are there in a year?

- Which month is between Marchand  May?

- How many days are there in a week?

- Which day is between Tuesday and
Thursday?

- Is February a hot mouth or a cold month?

VIIIl. BoiGepuTenpaBujbHbINAOTBET.
1) London is the capital of ...
a) Great Britain
b) Russia
c) Scotland
2) London lies on the river ...
a) Severn
b) Ob
c) Thames
3) The capital of Russia is ...
a) St. Petersburg
b) Belgorod
c) Moscow
4) I study at the ...
a) University
b) TechnicalSchool
c) Vocational School
5) In our group study...
a) only girl
b) only boys
c) girls and boy

6) The USA is the larger than...
a) Finland
b) Russia
¢) England

7) The capital of the USA is ...
a) New York
b) Chicago




¢) Washington
8) Australiaisa ...

a) country

b) continent

¢) island
Yourscore 25-26 20-24 15-19
Yourmark 5 4 3

JAu¢pepeHiupoBaHHbIN 32a4eT
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L. Electric Circuit

This 1s a circuit. Its elements are a voltage
source, a resistor and a conductor. The circuit

o} consists of a voltage source, a resistor and a
¥ conductor. A voltage source supplies current. A
a) resistor reduces current. A conductor connects

R the elements of the circuit.
—{—} Compare circuit @ with circuit 5. What is the

difference between them? Current passes

= through circuit a while no current passes
+lo- through circuit b. Circuit 5 has an open. No cur-
" b) rent through circuit 5 results from an open. An

open and a short are troubles in a circuit. A
trouble in a circuit may result in no current in it.



3. Complete these sentences, using the correct variant:

1. Circuit a consists of a) resistors and conductors.
b) a voltage source and resistors.
c) a voltage source, a resistor and a conductor.

2. A voltage source a) conducts current.
b) reduces current.
¢) supplies current.

3. A conductor a) connects the elements.
b) supplies voltage.
c) conducts current.

4. A resistor a) connects the elements.
b) supplies current.
c) reduces current.

5. No current resuits from a) an open.
b) a short.

2. Pacckaxure o cBoeil mpoeccuu.

Buaer Ne2

1 3apnanue IlpoyuTaiiTe M mepeBeaMTEe TEXHUYECKUI TeKCT. BbINoJHUTE 3a1aHHeE TIOCIE
TEeKCTA.



Series Circuit and Parallel Circuit

Compare circuits @ and b. Circuit g consists of a voltage source and two
resistors. The resistors are connected in series. Circuit 4 is a series circuit.

Circuit b consists of a voltage source and two resistors. The resistors are
connected in parallel. Circuit b is a parallel circuit.

A parallel circuit has the main line and
parallel branches.

In circuit b the value of voltage in R,
equals the value of voltage in R,. The
value of voltage is the same in all the ele-
ments of a parallel circuit while the value
of current is different. A parallel circuit is
used in order to have the same value of
voltage.

In circuit a the value of current in R,
equals the value of current in R;. The
value of current is the same in all the ele-
ments of a series circuit while the value of
voltage is different. A series circuit is used
in order to have the same value of current.
In R,, V;=IR; is the voltage drop in R;. In
R; the voltage equals /xRy IR, is the volt-
age drop in R,. In circuit ¢ a trouble in one
element results in no current in the whole
circuit. In circuit 4 a trouble in one branch
results in no current in that branch only, a
trouble in the main line results in no cur-
rent in the whole circuit.

2. Complete these sentences using the correct variant:

1. A parallel circuit has

2. A parallel circuit is used in
order

3. In a parallel circuit a trouble
in one branch

4. No current in a parallel cir-
cuit

5. The sum of IR voltage drops

a)
b)

parallel branches only.
the main line and parallel branches.

a)
b)

to have the same value of current in
all the elements.
to have the same value of voltage in
all the elements.

a)
b)

results in no current in that branch
only.

results in no trouble in the whole cir-
cuit.

a)

resuits from a trouble in one branch.
b)

results from a trouble in the main
line.

a)

b)
c)

equals the value of voltage in the cir-
cuit.

is less than the smallest voltage drop.
is more than the value of voltage in
the circuit.

2 3aganme Pacckakure 0 cBoeil npodeccum.
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Resistors

A resistor is one of the most common elements of any circuit. Re-
sistors are used:
1. to reduce the value of current in'the circuit;

2. to produce IR voltage drop and in this way to change the value of
the voltage.

When current is passing through a resistor its temperature rises high.
The higher the value of current the higher is the temperature of a resis-

tor. Each resistor has a maximum temperature to which it may be
heated without a trouble. If the temperature rises higher the resistor gets
open and opens the circuit.

Resistors are rated in watts. The watt is the rate at which electric en-
ergy is supplied when a current of one ampere is passing at a potential
difference of one volt. A resistor is rated as a I-W resistor if its resis-
tance equals 1,000,000 ohms and its current-carrying capacity equals
1/1,000,000 amp, since P = E x I = IR x I = I’'R where P — power is
given in watts, R — resistance is given in ohms and I — current is given
in amperes.

If a resistor has a resistance of only 2 ohms but its current-carrying
capacity equals 2,000 amp, it is rated as a 8,000,000-W resistor.

Some resistors have a constant value — these are fixed resistors, the
value of other resistors may be varied — these are variable resistors.

S. Complete the sentences using the correct variant:

1. A resistor is used a) to measure the resistance.
’ b) to reduce the current.
) to change the resistance.
d) to produce IR voltage drop.

2. When current passes through are- a) its temperature drops.

sistor b) its temperature rises.
3. Resistors are rated a) in ohms.
b) in volts.
c) in watts.
4. Power is given a) in amperes.
b) in watts.
5. Fixed resistors have a) a constant value.

b) a variable value.

6. The value of a variable resistor a) is fixed.
b) is varied.
7. A two-ohm resistor rated as-a a) has a current-carrying capac-
8,000,000-W resistor ity equal to 2,000 amp.
b) has a current-carrying capac-
ity equal to 200 amp.

2. Pacckakure 0 cBoeii mpodeccuu.
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Electric Cells

An electric cell is used to produce and supply electric energy. It
consists of an electrolyte and two electrodes. Electrodes are used as
terminals, they connect the cell to the circuit — current passes through
the terminals and the bulb lights. -

Cells can be connected in series,
in parallel and in series-parallel. In
order to increase the current capacity
cells should be connected in parallel.
In order to increase the voltage out-
put cells should be connected in se-
ries. In case a battery has a large
current capacity and a large voltage
output, its cells are connected in se-
ries-parallel.

When cells are connected in series the positive terminal of one cell
is connected to the negative terminal of the second cell, the positive
terminal of the second cell — to the negative terminal of the third ... and
SO on.

When cells are connected in parallel their negative terminals are
connected together and their positive terminals are also connected.

/N

Fig.6 Fig.7

In case a cell has a trouble it stops operating or operates badly. This
cell should be substituted by another one.

S. Complete the sentences using the correct variant:

1. A cell is used a) to increase the voltage output.
b) to reduce the current capacity.
c) to supply electric energy.

2. The terminals of a cell are used a) to conduct current.
- b) to increase voltage.
c) to connect the battery to a cir-
cuit.



3. When cells are connected in series a) all the positive terminals are
connected together.
b) all the negative terminals are
connected together.
c) the positive terminal of one cell
is connected to the negative
terminal of the second.

4. Cells are connected in series in order a) to increase the current capacity.
b) to increase the voltage output.

5. In order to increase the current ca- a) cells are connected in series.
pacity - b) cells are connected in parallel.

2. Pacckaxure o cBoeil npogeccun.
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Capacitors

A capacitor is one of the main elements of a circuit. It is used to

store electric energy. A capacitor stores electric energy provided that a
voltage source is applied to it.

I

P
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The main parts of a capacitor are metal plates and insulators. The
function of insulators is to isolate the metal plates and in this way to
prevent a short.

In the diagram one can see two common types of capacitors in use
nowadays: a fixed capacitor and a variable one. The plates of a fixed
capacitor cannot be moved; for this reason its capacity does not change.
The plates of a variable capacitor move; its capacity changes. The
greater the distance between the plates, the less is the capacity of a ca-
pacitor. Variable capacitors are commonly used by radiomen; their
function is to vary the frequency in the circuit. Fixed capacitors are
used in telephone and radio work.

Fixed capacitors have insulators produced of paper, ceramics and
other materials; variable capacitors have air insulators. Paper capacitors
are commonly used in radio and electronics; their advantage is their
high capacity: it may be higher than 1,000 picofarad.

Fig 8 Fig9

vantage is that they change their capacity when the temperature
changes. They can operate without a change only at temperatures not
lower than —40 C.

Common troubles in capacitors are an open and a short. A capacitor
stops operating and does not store energy in case it has a trouble. A ca-
pacitor with a trouble should be substituted by a new one.

“Besides, electrolyte capacitors are highly in use. They also have a
very high capacity: it varies from 0.5 to 2,000 microfarad. Their disad-



1. A capacitor is used

2. The main parts of a capacitor are

3. The function of insulators is

4.The capacity of a capacitor de-
pends on

5. The capacity of a fixed capacitor

6. The plates of a variable capaci-
tor

7.In order to charge a capacitor a
voltage source is applied

8. The greater the distance between
the plates,

4. Complete these sentences using the correct variant:

a) to supply voltage.
b) to increase the voltage output.
c) to store energy.

a) insulators only,

b) metal plates only.

c) metal plates and insulators be-
tween them.

a) to store energy.

b) to isolate the metal plates.

c) to prevent a short between the
metal plates.

a) the size of the plates.
b) the distance between the plates,
¢) the material of the in§ulators.

a) is constant.
b) is varied.

a) can be moved.
b) cannot be moved.

a) to the metal plates.
b) to the insulators.

a) the greater is the capacity of a
capacitor.
b) the less is the capacity.

]

2. Pacckaskute 0 cBoeil mpodeccuu.
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Conductors and Insulators

Conductors are materials having a low resistance so that current
easily passes through them. The lower the resistance of the material, the
more current can pass through it.

The most common conductors are metals. Silver and copper are the
best of them. The advantage of copper is that it is much cheaper than
silver. Thus copper is widely used to produce wire conductors. One of
the common functions of wire conductors is to connect a voltage source
to a load resistance. Since copper wire conductors have a very low re-
sistance a minimum voltage drop is produced in them. Thus, all of the
applied voltage can produce current in the load resistance.

It should be taken into consideration that most materials change the
value of resistance when their temperature changes.

Metals increase their resistance when the temperature increases
while carbon decreases its resistance when the temperature increases.
Thus metals have a positive temperature coefficient of resistance while
carbon has a negative temperature coefficient. The smaller is the tem-
perature coefficient or the less the change of resistance with the change
of temperature, the more perfect is the resistance material.

Materials having a very high resistance are called insulators. Cur-
rent passes through insulators with great difficulty.

The most common insulators are air, paper, rubber, plastics.
- Any insulator can conduct current when a high enough voltage is
applied to it. Currents of great value must be applied to insulators in or-
der to make them conduct. The higher the resistance of an insulator, the
greater the applied voltage must be.
When an insulator is connected to a voltage source, it stores electric
charge and a potential is produced on the insulator. Thus, insulators
have the two main functions:

1. to isolate conducting wires and thus to prevent a short between

them and

2. to store electric charge when a voltage source is applied.



Complete the sentences using the correct variant:

1. Insulators are materials having a) low resistance.

b) high resistance.
2. Current passes through conductors  a) easily.

b) with great difficnlty.
3. Copper and silver are a) common conductors.

b) common insulators.

4. Air, paper and plastics are a) common insulators.
b) common conductors.

5. In case a high voltage is applied to  a) it does not conduct current.
an insulator b) it conducts current.

6. Insulators are used a) to store electric charge.
' b) to reduce voltage.
¢) to prevent a short between
conducting wires.

7. Metals increase their resistance a) when the temperature de-
creases.

b) when the temperature in-
creases.

2. Pacckaxure o cBoeii nmpodeccuu.
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Transformers

A transformer is used to transfer energy. Due to the transformer
electric power may be transferred at a high voltage and reduced at the
point where it must be used to any value. Besides, a transformer is used
to change the voltage and current value in a circuit.

® 3 ® — —o
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Fig. 10 Fig 11

A two-winding transformer consists of a closed core and two coils
(windings). The primary winding is connected to the voltage source. It
receives energy. The secondary winding is connected to the load resis-
tance and supplies energy to the load.

The value of voltage across the secondary terminal depends on the
number of turns in it. In case it is equal to the number of turns in the
primary winding the voltage in the secondary winding is the same as in
the primary.

In case the secondary has more turns than the primary the output
voltage is greater than the input voltage. The voltage in the secondary is
greater than the voltage in the primary by as many times as the number
of turns in the secondary is greater than the number of turns in the pri-
mary. A transformer of this type increases or steps up the voltage and is
called a step-up transformer. In case the secondary has fewer turns than
the primary the output voltage is lower than the input. Such a trans-
former decreases or steps down the voltage, it is called a step-down
transformer.

Compare T; and T, in the diagram. T; has an iron core. For this rea-
son it is used for low-frequency currents. T has an air core and is used
for high frequencies.

Common troubles in transformers are an open in the winding, a
short- between the primary and the secondary, and a short between
turns. In case a transformer has a trouble it stops operating or operates
badly. A transformer with a trouble should be substituted.



3. Complete the sentences using the correct variant:

1. A transformer is used

2. Electric power is trans-
ferred at a high voltage
and reduced to any value

3. A transformer consists of

a) to store charge.

b) to prevent the change of energy.

c) to transfer energy.

d) to change the voltage and current value
in a circuit.

a) due to resistors.
b) due to capacitors.
c¢) due to transformers.

a) cores only.
b) the primary and the secondary windings.
¢) a core and the primary and the secon-

10.

11.

dary windings.

4. The function of the pri- a) to prevent the change of voltage.

mary is

. The function of the sec-

ondary is

. A step-up transformer is

used

. A step-down transformer

is used

. A transformer with an

iron core

. A transformer with an air

core is used

In a step-up transformer

A transformer should be
substituted

b) to supply energy.
¢) to receive energy.

a) to receive energy.

b) to supply energy.

c) to transfer energy.

d) to decrease the value of charge.

a) to step down or decrease the secondary
voltage.

b) to step up or increase the primary volt-
age.

a) to step down the secondary voltage.
b) to step down the primary voltage.

a) is used for high-frequency currents,
b) is used for low-frequency currents.

a) for high-frequency currents and for low-
frequency currents.
b) for high-frequency currents only.

a) the number of turns of the secondary
winding is greater than the number o
turns of the primary, '

b) the number of turns of the primary
winding is greater than the number of
turns of the secondary.

a) in case it has an open in the winding.

b) in case it has a short between the pri-
mary and the secondary.

¢) in case it has a short between turns.

2. Pacckaskure o cBoeii npogeccun.
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Electron Tubes

Let us consider electron tubes. Among the electron tubes in use
nowadays there are a diode, a triode, a tetrode and a pentode. The main
parts of electron tubes are electrodes. Electrodes are placed into a glass
or metal bulb.

Fig 14

A diode contains the cathode and the plate. When a diode operates
the cathode emits electrons, the plate collects them.

A triode contains the cathode, the plate and the control grid. When
the tube operates the cathode emits electrons, the plate collects them

and the grid controls the flow of electrons. Therefore, the grid is called
a control grid.

A tetrode contains the cathode, the plate, the control grid and the
screen grid.

When a tube operates it may oscillate. The function of the screen
grid is to eliminate oscillations. Therefore it is called a screen grid.

A pentode contains two electrodes and three grids: the control grid,
the screen grid and the suppressor grid. When a pentode operates the
suppressor grid eliminates the secondary emission.

Common troubles in tubes are an open heater and low emission.

These troubles result from constant use or from some other reason.
In case a tube has a trouble it stops operating or operates badly. A tube
with a trouble should be replaced by another one.



5. Complete the sentences using the correct variant:

1. A pentode contains a) the cathode, the plate, two'screen grids
and the suppressor grid.

b) the cathode, the plate, the control grids,

the screen grid and the suppressor grid.

2. A tetrode contains a) the cathode, the plate, the suppressor grid
and the screen grid.
b) the cathode, the plate, the screen grid and
the control grid.
3. A triode contains a) the cathode, the plate and the screen grid.
b) the cathode, the plate and the control grid.
4. The function of the . a) to collect electrons.
cathode is b) to eliminate the secondary emission.
¢) to emit electrons.
5. The function of the a) to eliminate oscillations.
plate is b) to emit electrons.
¢) to collect electrons.
6. The function of the a) to emit electrons.
control grid is b) to control the electron flow.
¢) to eliminate secondary emission.
7. The function of the a) to collect electrons.
screen grid is b) to reduce the capacity.

' ¢) to eliminate oscillations.

2. Pacckaxure o cBoeii npogeccun.
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ElectricMotors

Motors are used for converting different forms of energy into mechanical energy.

The main part ofa motor is acoil or armature. The armature is placed between the poles
ofa powerful magnet. When a motor is put into operation current starts flowing through the coil
(armature) and the armature starts rotating.

Electric motors are used practically in every branch of industry, transport, and
agriculture. Naturally, they are produced in many different designs. They are used in industrial
plants, and operate under different conditions.

Each motor is supplied witha nameplate which bears machine ratings: output power,
voltage, the rated current, the starting current, the power factor, the efficiency, and the rated
torque.

These motor ratings should be taken into consideration since they are necessary for the
users. Om them depends the length of motors' service life, which is mormally equal to about
10years, provided that the operating conditions are normal. Naturally, under abnormal conditions
the service life becomes much shorter: motors operate poorly and may have different faults.
Complete the sentences using the correct variant:

1. Motors are used



a) for transmitting energy.
b) for converting energy.

2. Motor's main part is
a) the frame.

b) the armature.

c) the stator.

3. The armature is placed
a) between the poles of the magnet.
b) about the poles of the magnet.

4. Motors' service life becomes shorter
a) under normal conditions.
b) under abnormal conditions

5. Faulty motors operate
a) normally.
b) poorly.

2. Pacckaxure o cBoeil mpoeccuu.
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Inductance and Mutual Inductance

Any conductor has some definite value of inductance. The induc-
tance of a conductor shows how well it can provide induced voltage.

Elements of a circuit with a definite value of inductance are coils of
wire called inductors. The inductance of a coil depends upon its size
and material. The greater the number of turns of a coil, the higher is its
inductance. An iron core also increases the value of inductance. Coils
of this type are used for low-frequency currents while coils with an air
core are used for high-frequency currents.

Two coils A and B are brought close together and a source of vary-
ing current is applied to coil A. If a measuring device is connected
across the terminals of coil B it will be found that a voltage is induced
in this coil though the two coils do not touch. The secondary voltage,
that is the voltage in coil B, is called induced voltage and energy from
one coil to the other transfers by induction. The coil across which the



current is applied is called the pri-
mary; that in which voltage is in-
duced is called the secondary. The
primary and the secondary coils have
mutual inductance. Mutual induc-
tance is measured in the same units
as inductance, that is in henries.

Thus, when a rate of change of
one ampere per second in the primary
coil will produce one volt in the sec-
ondary coil, the two coils have one
henry of mutual inductance.

It should be taken into consideration that induction by a varying cur-
rent results from the change in current not in the current value. The
faster the current changes, the higher the induced voltage.

£

"

Fig.12

4. Complete the sentences using the correct variant:

1. Any conductor has a) some definite value of resistance.
b) some definite value of inductance.
2. Any conductor can provide a) electric power.

. Elements with a definite value

b) induced voltage.

a) are called inductors.

of inductance b) are called coils.
¢) are called sources.
4, The inductance of a coil de- a) its size.
pends upon b) its core.
¢) its material.
d) its number of turns.
5. Aniron core a) increases the value of inductance.
b) decreases the value of inductance.
6. The value of mutual induc- a) in watts.
tance is measured b) in henries.

7. Induction by a varying current  a) results from the change in current,
b) results from the change in the cur-
rent value,
8. The faster the current changes, a) the lower is the induced voltage.

2. Pacckaskure o cBoeii npogeccun.

b) the higher is the induced voltage.
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